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Data collection 
• CTD profile 
• For each frequency-pulse 

length combination: on 
axis, beam pattern swing 



ER60 Setup 



Under the kitchen counter 



Calibration setup 
- 2 point anchor 
- 3 down riggers 
- harness and calibration sphere 





Goal 

• Determine G0 and Sa correction values 

http://support.echoview.com/WebHelp/Reference/Algorithms/E
chosounder/Simrad/EK60_Power_to_Sv_and_TS.htm 



Goal 

• Determine G0 and Sa correction values 

http://support.echoview.com/WebHelp/Reference/Algorithms/E
chosounder/Simrad/EK60_Power_to_Sv_and_TS.htm 

⇒ Update .ecs file with new G0 and Sa correction values 
⇒  Update Sv gain and Sa correction values in ER or ES software 



How to determine G0 and Sa correction values? 

 calc. TS gain =  
TSmeasured - TStheory 

2 
+ Gold 

 calc. Sv gain =  
10log(Sameasured/ Satheory) 

2 
+ Gold + Saold 

calc. Sa correction =  calc. Sv gain – calc. TS gain 

new G0 =  calc. Sv gain 
new Sa correction = calc. Sa correction 



Data analysis 

1. Parameter settings for ER60 
2. Characterize sampling environment 
3. Theoretical TS/ Sa correction values 
4. Measured TS/ Sa correction values (Echoview) 
5. Calculate new G0 and Sa correction (Excel sheet) 

=> Update .ecs file and acquisition software  

 



Can change if needed … 
• Sa correction 
• transducer gain 
• 3 dB beam angle 
• angle offset/sensitivity 
• 2-way beam angle 

1. Parameter settings 
for ER60 

Cannot change … 
• frequency 
• transmitted pulse length 
• transmitted power 



2. Sampling Environment 

Temperature (deg C) Salinity (psu) Sound speed (m/s) 

Calibration  
sphere 

transducer 



2. Sampling Environment 

Temperature (deg C) Salinity (psu) Sound speed (m/s) 

Calibration  
sphere 

transducer 

10.45 28.7 1483.8 

Use average value between transducer and calibration sphere depths 

=> Put calculated sound speed (c) and absorption (α) values in .ecs file 



3. Theoretical TS/ Sa values 

Frequency (kHz) 

TS
 (d

B)
 -42.37 -41.19 

-39.48 -39.36 

Sa = 4π(1852)2 10TS/10 

10Ψ/10 r2 [m2/ n. mi.2] (Ψ = Two-way beam angle)  



Data Analysis 
1. Parameter settings for ER60 
2. Physical environment 
3. Theoretical TS/ Sa correction values 
4. Measured TS/ Sa correction values (Echoview) 
5. Calculate new G0 and Sa correction (Excel sheet) 

=> Update .ecs file and data acquisition software 
 

 calc. TS gain =  
TSmeasured - TStheory 

2 
+ Gold 

 calc. Sv gain =  
10log(Sameasured/ Satheory) 

2 
+ Gold + Saold 

calc. Sa correction =  calc. Sv gain – calc. TS gain 
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